3A A#HI#H

IE{z EmEA OUT | IN |GROSS HDCP NET EE=
B &8 ik 37 38 75 126 624 L{IAE
2 WIERE =EF 30 34 64 00 640 Lt{HIAE
3 BR & 40 36 76 11.7 643 L{IAE
4 R TG 35 34 69 45 645 LHIAE
5 JEER EH 35 35 70 45 65.5 L{IAE
6 M 1HEX 39 37 76 99 66.1

7 BH 35 42 77 9.0 68.0

8 RIF R=BF 37 32 69 09 68.1

9 f&EH HI{Z 38 37 75 6.3 68.7

10 thEH FBE 37 32 69 00 69.0 RUE
11 BH F3x 44 35 79 99 69.1

12 XHA IEf&E 42 40 82 126 69.4

13 AH & 37 40 771 1.2 69.8

14 FE #sh 39 40 79 90 70.0

15 &H BhE 42 37 79 8.1 70.9

16 HHEH ZFE 41 43 84 126 71.4

17 5z &S 43 42 85 135 715

18 FH BE 44 45 89 17.1 71.9

19 &5 F|8 41 44 85 126 72.4

20 HI HEi= 37 40 77 45 725 RUE
21 W K 43 46 89 16.2 72.8

22 LA BN 46 45 91 17.1 73.9

23 |UH fi= 41 33 74 00 74.0

24 Ef] B 40 44 84 99 74.1

25 {ERAEA * 51 52 103 288 74.2

26 TR fE— 53 54 107 324 74.6

271 FEH EX 40 35 75 00 75.0

28 faR M2 43 43 86 10.8 75.2

20 B FEIE 40 39 79 3.6 75.4

30 hFt 44 38 82 6.3 75.7 RUE
31 §# IFF 43 42 85 9.0 76.0
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44
42
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47
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47
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48
48
49
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44
41
47
46
48
41
46
46
44

97
89
82
79
108
90
91
90
95
98
90
88
101
90
95
79
86
93
95

20.7
12.6
2.4
1.8
30.6
11.7
11.7
9.9
13.5
16.2
1.2
3.6
16.2
1.8
2.7
9.4
9.4
0.0
9.9

76.3
716.4
76.6
11.2
717.4
78.3
79.3
80.1
81.5
81.8
82.8
84.4
84.8
88.2
92.3
13.6
80.6
93.0
89.1
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